
   
 

   
 

Practice Test �t Algebra 1 Answer Key 

Item 
Position 

Item Type 
TEKS 

Alignment 

Maximum 
Number of 

Points 
Correct Answers(s) 

1 Multiple Choice A1.1.11.B 1 B 

2 Multiple Choice A1.2.3.E 1 D 

3 Hotspot A1.4.7.A 2 

(-1, 0) and (3, 0) 
Recognized that the x-intercepts are 
located where the graph crosses the 
x-axis, which are (-1, 0) and (3, 0). 
See Appendix 1.1  

4 Multiple Choice A1.3.2.I 1 A 

5 Multiple Choice A1.5.9.D 1 C 

6 Multiple Choice A1.4.6.C 1 B 

7 Inline Choice A1.5.9.B A 

10 Multiple Choice A1.3.5.B 1 C 

11 Multiple Select A1.1.10.E 2 
A: x + 3 
D: 2x �t 5 
See Appendix 1.3 

12 Multiple Choice A1.4.6.A 1 A 

13 Multiple Choice A1.3.2.C 1 D 

14 Multiple Choice A1.4.7.B 1 D 

15 Hot Text A1.2.3.C 2 
Slope: 2 
y-intercept: -4 
See Appendix 1.4 

20 Multiple Choice A1.2.3.B 1 D 
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A sample of a substance with an initial mass of 963 grams is decaying at a rate of 27% per hour.

Create a function that can be used to find y,� ��� � ���� � �	 � ��� � ��"������ � �� � ����� � ��������� � �	��� �� � ������
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In the expression shown, x is a value where the expression is defined.
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For linear function f, f(-3) = 0 and f(5) = -4.

Complete function f in slope-intercept form.
Move the correct answer to each box. Not all answers will be used

-3 -2 -1.5 -0.5 0.5 1.5 2 3

f(x) =   -0.5 x +  -1.5
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